
BUS 3500 Management Information Systems
Exam 3 Review Questions
Security & Privacy
Q.1. An attacker is preparing an attack. He got the IP address of a potential target. Which of the following could he use in order to determine whether or not the potential target exist, is connected to the network, and is maybe responsive?

a) Hit command

b) Ping messages

c) tracert

d) None of the above

Q.2. An attacker is preparing an attack. He got the IP address of a potential target. Which of the following could he use in order to know about the route that leads to the target?

a) Hit command

b) Ping messages

c) tracert

d) None of the above
Q.3. An attacker has used a single computer to send a stream of attack messages to a server to the point that the server began to operate very slowly. Which of the following does the attacker attempt?

a) A malware attack

b) A server attack

c) A denial of service attack

d) A ping-of-death attack

e) None of the above

Q.4. An attacker has sent a single oversized attack message to a server loaded with an old operating system. Upon receiving the oversized message, the server crashes. Which of the following does the attacker attempt?

a) A malware attack

b) A server attack

c) A denial of service attack

d) A ping-of-death attack

e) None of the above
IS Development & Purchase
Q.5.
Which of the following tools or techniques is usually used during the Systems 

Analysis phase of the traditional SDLC?

a. Interviews

b. Program Flowchart

c. Pseudocode

d. None of the above

Q.6.
Which of the following IS professional could be involved in the Development phase of the SDLC? (Circle all correct answers)

a. Project manager

b. System analyst

c. Network engineer

d. Programmer

e. None of the above

Q.7. During what phase of the SDLC, software programs like Microsoft Project could be used?
a. Maintenance

b. Implementation

c. Development

d. System Analysis

e. Planning 
Q.8.
During the Development phase of a new medical IS, the development team finds out that most of the technologies needed to develop and implement the system are not yet available on the market. At what step of the SDLC that kind of problem should have been identified?
a. Maintenance

b. Implementation

c. Development

d. System Analysis

e. Planning 
f. None of the above
	Q.9
	One of the advantages of using the traditional systems development life cycle model is that it is not necessary to complete one phase before starting to work on the next phase.
	T
	F

	Q.10
	Operational feasibility analysis attempts to determine if the kind of technologies required to develop the system do exist
	T
	F

	Q.11
	In a Data Flow Diagram, squares represent entities that are external to the organization.
	T
	F

	Q.12
	Verification testing ensures that the system is working properly in the real working environment using real data
	T
	F

	Q.13
	In a Data Flow Diagram, curved rectangles represent business processes
	T
	F
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